AI%® DUR366L CORDLESS GRASS TRIMMER

1/2

BX



AI%® DUR366L CORDLESS GRASS TRIMMER

BR 2/2



A% DUR366L CORDLESS GRASS TRIMMER ER 112
ARER EHRT ma fod | N/O B2 BiE2 !
001 183A19-1 GRIP SET
D10 INC. 12
002 699068-7 POWER SOPPLY CORD UNIT
003 687261-5 EEAR
004 266326-2 #2244 M4X18
005 455629-1 SHARBAFT
006 233621-5 HE 9
007 455625-9 SWITCH LEVER
008 632E26-0 SWITCH UNIT
009 143977-7 SUB CONTROLLER COMPLETE
010 233612-6 10
011 922228-9 A7 AIRA M5X18
012 183A19-1 GRIP SET
D10 INC. 1
013 266326-2 1244 M4X18
014 699067-9 BRNE
015 183A64-6 S48
c10 263005-3 B 6
D10 INC. 23
016 266326-2 1244 M4X18
017 346248-3 EE K 24
018 266326-2 1244 M4X18
019 687261-5 B
020 266326-2 1244 M4X18
021 143858-5 CONTROLLER COMPLETE *
021-1 144369-3 CONTROLLER COMPLETE S
022 644808-8 Eihis T
023 183A64-6 S48
c10 263005-3 B 6
D10 INC. 15
024 852F92-9 DUR366L NAME PLATE
025 266326-2 1244 M4X18
026 251314-2 #2244 M4AX12
027 251314-2 244 M4X12
028 346858-6 T IRAERS
029 168478-4 fie3 =30
030 922228-9 A7 iR M5X18
031 195626-2 FIRBE
D10 INC. 70-74
032 911233-1 1244 M5X20
033 455626-7 BE
034 210062-2 #h7%& 60722
035 529146-8 EFEN
D10 INC. 34,57
036 619368-9 By *
036-1 619462-7 ROTOR <
037 911128-8 SPERIRM 4X16
038 455628-3 RETESS
s

AR A

THE—EZHF -

5IENEHEA 2017/11/16



ZU%% DUR366L CORDLESS GRASS TRIMMER BR 2/2

ARER ZHRR e Xk | BE | NO 21 BiE2 B!
039 620401-2 PEFIZE B 1 *
039-1 620562-8 CONTROLLER B S 1
040 911128-8 SEEEIR%% 4X16 1
041 687042-7 RBE R F/LS0811 1
042 922223-9 H.S.H.124% M5X16 2
043 922241-7 1212 M5X25 1
044 143039-1 BENR 1
045 211131-2 7% 6001DDW 1
046 962106-1 #E R-28 1
056 143855-1 PIPE COMPLETE K 1

c10 809N07-5 CAUTION LABEL 1

C20 819312-8 MAKITA 155425 1
057 213325-5 O 3, 19 1
059 326586-9 RING 14 S 1 *
060 326518-6 EUEE A 1
061 346622-5 1R 1
062 266579-3 #2412 M6X30 2
063 942151-2 EIEHE 6 2
064 346073-2 AR 1
065 413143-3 BH 2
066 455926-5 PROTECTOR 1
067 346855-2 CUTTER 1
068 266326-2 #2244 M4X18 2
069 451601-1 hEEH 1
070 922243-3 #2244 M5X25 2
071 452843-0 KAEB 1
072 346468-9 A 33 1
073 452841-4 BRI E 1
074 347094-7 CLAMP 24 1
AO1 197296-3 FERESBAE 1
A02 195246-2 HESR 1
A03 783202-0 NERF 4 1
A04 783217-7 NEBRF 5 1
A05 831304-7 B % 1
A0B 125516-5 | 1
EO1 807E85-5 SOUND 92DB LABEL 1

AR B ES - FIEPHER 2017/11/16



